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(G)zfaennblad: Kruis het goede antwoord uit de tafel van
1. 2. 3. 4.

1x6= 6x6= 4x6= 6x6=
16 (6036 (54) 36148 (54)(12)
5. 6. 1. 8.

10x6= 6x6= 2Xb= 6x6=
54660, (36) 60)(s4) (2412 (36618 (24,
9. 10. 11. 12.

4xX6= [ xXb= 2xXb= 9xb=
120301806 (54241218,
13. 14. 15. 16.

2X0b= 1x6= 10x6= 6xb=
w218/(1206) (605430060 (60)(12)(42 /(48 (36)(2¢ /186
17. 18. 19. 20.

10x6= 6x6= 10x6= [ xb=
1812 (60)(36 (6 )(48)(42) 24
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g:faenn‘bAl?\ldT:v}\jguoiségg\lgoede antwoord uit de tafel van
<l Tafels
1. 2. 3. 4.
1x6= bXx6b= 4X6= 6x6=
OUCIEDIED 36048 (54)(12)
5. 6. 1. 8.
10x6= bXx6b= 2Xb= 6x6b=
5416 (60,36 60)(s4)(24)(12) (366 (18] (24)
9. 10. 11. 12.
4X6= [ xXb= 2Xb= 9xb=
12/(30/(18) (6] (54)24)12) 18,
13. 14. 15. 16.
2xXb= 1x6= 10x6= 6x6=
w2)18/2)(6)  (6)(s4)(30)(60)  (s0)(12)(42)(48)  (36)(2¢18) 5
17. 18. 19. 20.
10x 6= 6x6= 10x6= [ xb=
18)12)(60)(36) (6 (48)(42)24)
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